Chem 331, 2011, Quiz 1, 9/30/11 Name_ K<EY.

1. Give the hybridization for each non-H atom (6 poinis}

Quiz continued on next page. The following table may be useful

i cnange in Free Energy on ﬂipping from the cyc!ohexane Gnnlormar wlth tha lndicated Subsmuem
bt Equatorial to the Conformer with the Substiluent Axial LA

Substituent AG® (ke mol™" (kI mol™") Substituent AG® [keal mol™" ¢kJ mol™)]
H : 0 {0} Y F 025 (1.05)
CH; 1L (7.H) Cl (.52 (2.18)
CH,CHa, 175 (7.32) Br 0.55 (2.3
(CHY,CH 220 (9. 1 040 (1.92)
(CHC ki (25

HO 0,94 (3.93)
Ho—& 141 (5.90) CHho 075 (3.14)

0 H;N 14 (5.0

CH,0- (E 1.29  (5.45)
Nete: In all examples, the more stable contformer is the one in wlich the substitient is equatozial,




Chem 331, 2011, Quiz 1, 9/30/11 Name

2. (7 points each) For each pair of cyclohexanes, which is more stable. Explain
your reasoning in detail. Your answer should include drawings of cyclohexane
conformations. No credit for a correct guess, only a correct explanation.
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